[bookmark: _Hlk73625209]Summary: 
320 variations. Using formulae.

Question:
Consider the formula [image: <EFOFEX>
id:fxe{654b0caf-95aa-41e7-9782-0982105d9519}

FXData:

</EFOFEX>]
Solve for d given [image: <EFOFEX>
id:fxe{4e2ad817-ab63-414c-bd5c-577fd9e927f7}
FXGP:DP-YbLhASd
FXData:

</EFOFEX>]

[4 Marks]


Solution:
[image: <EFOFEX>
id:fxe{d3b9c3e8-e496-4d71-929e-39cc46f817d9}
FXGP:DP-YbLhASd
FXData:

</EFOFEX>]
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Substitute w =3, h=4andv =7
> 3=7><4+4%./
= 3=28+2d v
= 3-28=2d
= -25=2d v/
= d=—2—5/
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